INSTALLATION INSTRUCTION
AEROKLAS HOOD STRUT FOR MITSUBISHI TRITON 2023

N 2Pt W G B Dl gt e W

' 5 ze s
%uma Fadauils=nau
a7 |

MUY

b4 &LOWER BRACKET LH

\ 2> | LOWER BRACKER RH

| UPPER BRACKET LH
\ | UPPER BRACKET RH

| PLATE LOCK LH

\

{

PLATE LOCK RH

SUPPORT PLATE WITH BOLT M8

-
PIPE EXTENDER

BRACKET SUPPORT

2l ed | & mh o [ b |uh e

0 | SUPPORT PLATE WITH BOLT M5

1 |O-RING OD29

2 |RETAINER CLIP

e

W
alalalalo|lo|w|o|o]|®

3 | HEX NUT M5x0.5

14 | SPRING WASHER M5

15 | WASHER M5

4
16 | HEX NUT M28x1.25

i

17 | SPRING WASHER M2

12 | WASHER M8

19 | FLANGE HEX SCREW M#8x1.25

——
20 | HOOD GAS STRUT LH

—
21 | HOOD GAS STRUT RH

-JT-—
22 | O-FING OD33

el Bl e B 2N 2 0N o)

F?ev.OO L

I 14/12/2023

B

nﬁ-&&;?&_' R oo o

";v
' .

! ey o a s IR
RS I BT,

£ S 3 LT B PRSIt e Wk (R N

PRRE v ok

W g e MUY

T B L IR N i I Y



R W —————

.
%3
-
5
.
<
&3
»
k3
L]
$
-
g
4

W TR M R T v >

215

14/12/2023

Rev.00




No.12

I T T R ——

No.12

No.12

9P
N
-
N
—~
N
—
—~
<
—_

.00

[—;QGV






v - INSTALLATION METHOD REMOVE GAS SPRING
AwNsnaalsa
1

4 l" B ' 14 ) . '
tunydindoans Wadhinstlss iegonmigslng

Wnoa Gas Spring LH&RH aannau

In case to Hard maintenance, Must remove Gas spring first.

LOWER

‘
Npd
r f"’\

WHIEIAA : BUABUNMIARRILNAETITWNUAETIBAARIMT DWW
Remark : The installation procedure for the left and right gas spring are similar.

Wz | ws




